SplashLearn

Multi-Step Word Problems

Circle the correct sequence of steps for the multi-step word problems.

Elio has 108 eggs out of which 34 are brown eggs and the remaining are white eggs.
He wants to arrange all the white eggs in trays. Each tray can hold 36 eggs. How
many trays does he need?

STEP 1- Addition STEP 1- Subtraction
STEP 2- Multiplication STEP 2- Division

- /

There are 8,000 books in a library. The books have been kept equally on shelves. In
each shelf there are 8 levels with 20 books on each level. How many shelves are

therein all?
STEP 1- Multiplication STEP 1- Division
STEP 2- Division STEP 2- Subtraction

- /




